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General Instructions :

Read the following instructions carefully and follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(it)  The question paper is divided into four sections — Section A, B, C and D.

(iti) In Section A : Questions number 1 to 18 are Multiple Choice Questions
carrying 1 mark each.

(iv) In Section B : Questions number 19 to 24 are Short Answer type-I
questions carrying 2 marks each.

(v)  In Section C : Questions number 25 to 29 are Short Answer type-II
questions carrying 3 marks each.

(vi) In Section D : Questions number 30 to 34 are Long Answer type
questions carrying 5 marks each.

(vii) There is no overall choice. However, an internal choice has been provided
in Section B, C and D of question paper. A candidate has to attempt only

one of the alternatives in such questions.

Section A

1. Given below are some of the elements of a business opportunity. Identify
the correct combination of the elements : 1

(1) Assured market scope

(i1))  Overcome adversity

(iii)  Practicability of the idea
(iv)  Potential of future growth
(a) (), 1), (iv)

(b) @), (iid), (iv)

(c) (i), (iid), (iv)

(d) (@), 1), (iii)
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Which of the following statement is related to ‘Below-the-Line’ promotion
approach that a company can use to promote its products ? 1

(a) It targets mass audience.
(b) It targets identified small groups.
(c) It helps in establishing brand identity.

(d) It includes conventional media like print, online, television and
cinema advertising.

Ramandeep is a technical entrepreneur who started developing
interactive websites of businesses. Due to lot of competition in this field
he is experiencing a decline in the demand. He wishes to understand his
revenue position as compared to his investment. Which one of the
following combinations would help him in assessing the profitability of
his business ? 1

(1) Economic Order Quantity

(ii))  Return on Investment

(i11)) Return on Equity

(iv) Break-even analysis

(a) (1) and (iii)

(b)  (iii) and (iv)

(¢) (i) and (iii)

(d (@) and (iv)

When two companies that may not compete with each other but exist in
the same supply chain merge, it is known as : 1
(a)  Horizontal merger

(b)  Vertical merger

(c) Market extension merger

(d)  Product extension merger

Page 5 of 27 P.T.0.
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From the following, identify the form of business organisation that
generally has a limited area of operation due to limited finance

availability and limited managerial abilities :
(a)  Sole Proprietorship

(b)  Partnership Firm

(c) Private Company

(d)  Public Company

Krishiv manufactures lamp shades in his cottage industry where labour
intensive techniques are used. He is selling these lamp shades under the
brand name ‘U-lite’. They are in great demand as nowadays interior

designers are using lamp shades to give an aesthetic look to the houses

they design. For Krishiv, the per unit cost of each lamp shade is ¥ 450
and he sells it for ¥ 900. Similar lamp shades are available in the market
and on online websites in the range of ¥ 1,000 — ¥ 1,100 per unit. The
pricing strategy used by Krishiv is the one where the price of the product
is initially set at a price lower than the eventual market price to attract
new customers. His objective is to increase the sales volume, rather than
to make profit in the short-run. The pricing strategy adopted by Krishiv
is :

(a)  Cost plus pricing

(b)  Penetration pricing

(c) Skimming pricing

(d)  Variable pricing

Page 7 of 27 P.T.0.
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7. From the information given below, calculate the circulating capital of a
company :
Assets (%) Liabilities
Stock 60,000 Trade payables 20,000
Debtors 55,000 Short-term loans 10,000
Cash 65,000 Outstanding expenses 5,000
Short-term investments 20,000
(a) ¥ 35,000
(b) ¥ 1,65,000
(c) < 2,00,000
(d T 2,35,000
8. Prabhas is the creative head of an advertising agency. His latest project
is to design a campaign for super food for children in the age group of
6 months to 2 years. He developed a jingle in Hindi as well as in English
language to reach out to the maximum audience of the market segment.
By doing this, he is not only informing and selling the product but also
improving the image of the business. When any advertising activity is
planned, there are four rules to be considered. From the following,
identify the rule/rules that are taken into consideration by Prabhas in the
above case :
(i)  Aim
(i1))  Target
(iii) Media
(iv) Competitors
(a) (@
(b) (i) and (ii)
() (), (il) and (iii)
(d) (@), (i) and (iv)
o8 Page 9 of 27 P.T.0.
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Sahiba has a boutique in Nagpur, which she started in 2020. She had
invested ¥ 2,00,000 from her savings and borrowed ¥ 3,00,000 from the
bank @ 10% per annum. She made a net profit of ¥ 50,000 in the year
2021 — 2022.

In the above case the ‘Return on Equity’ is :

(a)  10% (b)  20%
() 25% (d 40%

Assertion (A) : A problem is a road block in a situation that forces the
entrepreneur to find its solution.

Reason (R): One of the objectives of problem identification is to
identify the target group facing the problem.

Evaluate the statements given above and choose the most appropriate
option from the following :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

Assertion (A) : Offer to employees means sale of its securities by a
company to a limited number of sophisticated investors.

Reason (R): Offer to employees enables employees to become
shareholders and share the profits of the company.

Evaluate the statements given above and choose the most appropriate
option from the following :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

Page 11 of 27 P.T.0.
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Assertion (A) : Backflip acquisition is a rare case of acquisition in which

the purchasing company becomes a subsidiary of the

purchased company.

Reason (R): Both the companies approve of the acquisition but the

entire process is done by force. 1

Evaluate the statements given above and choose the most appropriate

option from the following :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

Break-Even Point is the level where : 1

(a) the revenue generated is equal to all the expenses required for

generating the revenue.

(b)  the revenue generated is less than all the expenses required for

generating the revenue.

(c) the revenue generated is more than all the expenses required for

generating the revenue.

(d) Both (a) and (b)

Page 13 of 27 P.T.0.



EE

715 13T 7T TG FI 96T 7T F97 G&IT 14 T 18 T IR T |

14.

98

ITYT Afd FHG™ 1 Teh AN T & AT SUNIAT shl G Tavaehdrisi —
TiegRl 3R 9IS § TR a9 fomiy /el % o T Tl foauve g 7 |
36k Y T A ANhd AW Il AT UTeehi ohl AETIhdT Ifd o TaQ
gdqd  SAGEIeh  YEddi, TRl qer YgE ANl gRT UTEehl o
TITIHRATHAT & T AHIE TIMMUG B & | O § Qi IH dlel T =aH
fourfr wer oft ST IUWRREIST HI FTTST Y YW HAT AR 7 |
d SAYHRIG: T8 o8 TR Bld & SEH Teh &1 ©d A= dH 341G IueTed Bld
7 | TReeTHe’ #i Faunen S a9 A gAR - 8 Fifh I THT dfa
R HSe TTaedi § qiEfdd 81 1@ & | 9gd-H Hid H geaTg sASHI sl T&qd
T AT T H Fgard H ATTGehi ohl IS <8l T8 2 | 37d: AR AT s
% ToTu 1T |ict sl STTawTsh €9 € Ig T8 1 A1e0 o fafsmse srgvancyes
It 9T T Teh €I shirgd oieh 39 T s9&dd] T hl JMT |

YIS o Hid a9t a1 SAF@TIeh I i Thichd HUl qAT T dTct 0 §
STHIHISAT hl TP Toai-dl aTel Heehl TIWT YGH Bl | H 1 ITAM
Uk TEGIAT I TG ST 741 st g (Faferdt) = s fosea wream
@& &9 | fepu S |

i ot § @ yg@ faam-a9 6t ygem Fifu

T WY & A ATSohel 3TH Il AfG UTgehi 1 STavaehal qfd & foTw wad
TG S, M= a0 SqE AN GRI UTehi i ATawIharsti &
[T TR w1y d &

(a)  WThideh GETEH

(b)  HaT-HEEwe

(c) W NR-E=d

(d)  goHTcHsh T

Page 14 of 27



EE
]

Read the article given below and answer the questions from 14 — 18.

Shopping malls are an integral part of the community and a
one-stop-shop for all the consumer’s needs — from shopping and dining to
entertainment and special occasions. Additionally, malls today are
synchronizing with customer’s needs by offering constant engagement,
activities and niche campaigns to cater to each target audience that visits
the mall. The latest departmental stores which are opened in malls also
want to provide their customers a wholesome experience. They are often
hypermarkets having all products under one roof. The concept of
‘retailtainment’ has been around for quite a while, as upscale malls have
slowly transformed into recreational destinations. A plethora of
restaurants serving luscious delicacies has seen massive footfall. Thus, to
create memorable experiences, shopping malls must strive to provide a
high level of engagement by focusing heavily on unique experiential

content.

The future malls will integrate virtual and augmented reality, will
provide highly immersive retail experience to consumers in the days to
come. Deliveries will be carried out using drones and virtual reality will

be used as a sales channel.

14. Identify the prominent idea field from the following sentence : 1
‘Additionally, malls today are synchronizing with customer’s needs by
offering constant engagement, activities and niche campaigns to cater to

each target audience that visits the mall.’
(a)  Natural resources

(b)  Service-related

(c) Market-driven

(d) Creative efforts
o8 Page 15 of 27 P.T.0.
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(d  (2) T (o) M

fafafRaa & 9 guftc wfower & 39 9w &l gga HifSu St wiasy | sifum
it o qiedq O IHE fiest fama |

(a) o

(b) TN
(¢) UrenfehT
d) Tafees
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‘A plethora of restaurants serving luscious delicacies has seen massive
footfall in many malls.” The idea field reflected in the given statement is :

(a)
(b)
(c)
(d)

Natural resources
Service-related
Market-driven

Creative efforts

The idea field which is depicted in the sentence ‘Deliveries will be carried

out using drones and virtual reality will be used as a sales channel’ is :

(a)
(b)
(c)
(d)

Natural resources
Service-related
Market-driven

Creative efforts

From the following, which form of business organisation is best suited for

owning and managing shopping malls ?

(a)
(b)
(c)
(d)

Sole proprietorship
Partnership firm

Joint stock company

Both (a) and (c)

From the following, identify the element of macro environment that
would play a dominant role in the transformation of shopping malls in

future.

(a)
(b)
(c)
(d)

Economic
Social
Technological

Legal
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Qs @

(%) SATEHIRISH TS o Teh JhR % &9 § @TEH 1 Tfga Afger’ aun
‘Saeft Ty ferranett < 31k i |
HAAT
(@) wEed & w fhd @ fovmast w1 o difvw e g
TG H134 & Tehel WTiHcd TR hl Tfed HiHieti sl gt fopam S
ghdT 7 |

e e o (T W 3 Seeht e saa|r i SiHaieT qon Heweyul
3THLN 1 IUGH &, ‘alcer® TdHes’, S foh Toh WRA TgUsi gaiarg e
HEOT @ qAT TR TN o IcuTed H Tafreedr Wl &, R ek =gedm &
Th-gH § U1 &Y § TEFE(d &, 1 oo 8 |

‘TREA T gel (TA woe &)’ qen dicerd fafide o e gy foer % YRR H
JEeT-T Tg THHATST |

ffeTRgd THER-9T @ ol Ui a1 oi@ § T&a fht T PESTEL #ied
2l UZehl hl YgHTHT T HHLATST :

HIESA BIF & Th JiHg SUE 4 394 TR B & JdHad Aied § GH: dlshd
A Tohed o ST o1 IYANT TohAT | AT Tohed o ST AA o o BId &
o Tt qem o 1 erfreifyg e <t gend foRivar Bt R | 59w %
T § B Jalgesh adT g Tiaidl g1 I | T a9 HT 6,40,000 H
TSell e o ATt 945 § %eh QU I1d 3 1R wggll uiifeufaedh a3 = fou
TR @A I @ 2 |

My Td T faum o yay feees & TR 3 STard-3TeTia = A1 ol
-3 = AT ¥ 9ga W W R 2 | wo s amft & fawmw
% foru sy w2 |
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Section B

(a) Give the meaning of ‘Implied Authority’ and ‘Mutual Agency’ as
characteristics of a partnership form of business organisation.

OR

(b) State any two characteristics of partnership which overcome the
inherent limitations of sole proprietorship form of business
organisation.

Merger between ‘Larsen and Toubro (L. & T) with key business area in
construction engineering and manufacturing critical equipments and
‘Voltas Limited’, an Indian multinational electronics company specialized
in manufacturing home appliances, whose business fields are totally
unrelated, has taken place.

Identify and explain the type of merger between ‘Larsen and Toubro
(L & T) and ‘Voltas Limited’.

Read the following newspaper article and identify and explain the two
elements of PESTEL model which have been presented in this article :

A popular brand of mobile phones has used repurposed fishing nets in its
latest model of smartphones. Fishing nets are made of Nylon which has
the basic property of adsorbing moisture and water. Use of this material
would make the phones waterproof and dust resistant. Every year around
6,40,000 tonnes fishing nets end up in oceans, posing a serious threat to

the marine ecosystem.

According to the Managing Director, Research and Development
Department, they are working to replace fossil-based raw materials with
bio-based raw materials which are renewable. The company has been
researching and developing sustainable materials.
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(%) Touum T S TR HE & T @i (SWOT) favadsor i T =i &
w9 W HHIAET |
AT

(@) Th A AEEMRIS ASHT TAR AT, THeAdT hl TR T2 & Fehdl
ifer Wiorsd <l fametdiatl ol A o o foT 98 % & dehal & I

13 ol fomg od §Y 30 %o 1 e fog FHifv |

T FH o 3Gl ohl FEAM Hid A1 Ie gal SRR & el JGH -
o f5a wreg i sTravTehdn Bt 3, 30 YEATHT Ud THEATET |

(%) U U g Tresti-e o1 for we Sfea fofa omn sman @ e
Hraurigdes foem td FRiSH 6l smavashdl gidl 8 il 3@k fore
TR eiicd Ud Ufdaedl bl ATawehdl Bidl & | U8 foheal a1 SIfdics
TRl g Yfdaed STEaaehdl3Tl 1 I hity |

AT

(@) Y SR ! Tofi™ geaeer’ i /T S1al & ? Seai@ it |

Qus 1

Fifdeh Tk 3Icdted foveiws & €9 d off o o &m war 7 | fofa ad
2022 — 23 hl die 93% U 98 & AU TR o IcHIE h &I 6 AR Shigdl
fraifa fopam mn | Frot % yerg fdees d wifae ¥ AW Sfie IR &
3R ‘SO AT W M HE oh [ FHaT | 387 I8 H 91 6 I8 sqfiie
froioft afsham & Y @ o7a qe TTwfl o afeyd vaTg @ gHfvad Sam |

SraETRieh AISHT o 3T U<Hh hl UgHNAU Ud FHAEU faehl == ye=y fHesen
SR I TR |
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(a) Explain ‘SWOT analysis’ as a step in preparing a marketing plan. 2
OR

(b) ‘Preparing a good business plan can’t guarantee success, but it can
go a long way towards reducing the odds of failure.” Justify this

statement by giving any two points. 2

Identify the term that is used to identify the products of one firm and

differentiate them from those of the competitors. Also, explain the term. 2

(a) The decision of ‘going public’ by a company is considered to be a
complex decision that requires careful consideration and planning
as it requires additional obligations and reporting requirements.

State any two such obligations and reporting requirements. 2
OR

(b) Why are capital markets regarded as ‘financial intermediaries’ ?
State. 2

Section C

Kartik works as a production analyst at ‘Shree Tyres’. During the board
meeting for the financial year 2022 — 23, the target production of tyres for
the year was decided at 6 lakh units. The Managing Director of the
company asked Kartik to prepare a blueprint in advance and ‘work your
plan’. He also added that this blueprint will ensure orderly flow of

materials in the manufacturing process from the beginning to the end.

Identify and explain the component of ‘Business Plan’ being discussed by

the Managing Director. 3
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(%) IS dIF foig dd g It <hIfSY fob forawor sJaett 1 Seaer wieam form

Yeh 3cqTeehl <hl HRTIAT ShidT 2 |

AT

(@) ‘faspa wrifa” o1 w1 7d 7 ? Ieo@ HINT o Ha th awa fasa
WiHIfG fasra o1 bl grdT Sl 2 |

‘Tt Ve qon TS (Wh3T9) I H Uk TIfUd §vg 8 | a0 | I8
Ut 5 ITETSAT & Aeaeh o 1Y feoet § &0 H @7 |

39 I8 I ARG o Tl gl # 79 Tl g5 AT =ed & 3R di-¢i
O e Trqul e H ETUd hET =TEd # |

3o fou ot 3 fofe o o6 Taedt qen uee G=red Wik o STEd
YIAH hid o Sgal § TaTe gau At o T 3 §vg & Ay ured
% fou 3o fafime srfeenr for smd |

3Tk H Afd fodruT o €9 %l 9gA1HT W9 FHART |
‘Toryd foeml 1 gHeA wd T R Y AT gITeeRl i ggeed
gfsham ® Afifeld T Hew@Ul ¥ 2 |

vy foRegl dF TEmeAl (Fdt) 1 UgETHT T 3T ook T S § Herd
foramdl o1 Sgwa il 3 o S # |

(%) e FIU W 1 Y MU | FEHE FHI Yhld R THR The
FUTAT sk hl YHTTd il & ? Ueh [ shl H8RdT ¥ GHeST |

HAAAT

(@) U@ a9 had Il I FGH™ H A & AU FGHE & AT
ENENACIR

3G HAT & AT § U FHawment &t fohegl @ famivamst &1 Ioor@
T |
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(a) State by giving any three points how direct channel of distribution

is helpful to producers.
OR

(b) What is meant by a ‘Sales Strategy’ ? State how a successful sales
strategy helps the sales force ?

‘Pretty You’ is an established brand in the salon and makeover industry.

It is currently operating in Delhi with a network of 5 branches.

It now wants to make its presence known in different cities of North
India and gradually would be establishing its identity throughout the

country.

For this, the company decides to give exclusive rights to independent
retailers to take advantage of the brand “Pretty You” in return for their
payment of royalties and conformance to standardized operating

procedures.

Identify and explain the form of expansion discussed above.

‘Ability to perceive and preserve basic ideas’ is an important factor

involved in the process of sensing opportunities.

Identify and state any three sources that lead to emergence of these basic

ideas.

(a) Give the meaning of ‘cash conversion cycle’. How does the nature of
business influence its cash conversion cycle ? Explain with the help

of a diagram.
OR

(b) ‘Angel Investment’ not only brings in funds but also an invaluable

mentor to the business.

In the light of this statement state any three features of angel

investors.
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Qs ¥

(%) ‘facrem wa sl fafe swron | fafagar 1 =1 ste@n 3= 9ig &«
gTed i <hl g1 © IR B & | faeem wa stfmee & @ iR uim
RN <h! THTSY |

areran

(@) warser qea-fawe fafer’ @1 o1 e | qoa-fgio & 38 fafa %

gl g oAl a1 IS HT Ieeig HINT |

STw g w1 AY T | HET o faehmE Al TaEdnsTi § gerdl & foe fafiE
STETAT T T YSiT hi 7T K Fhd & | ITH Sl gRI ToRiE hl Hie
ISt aEdr qUl W-HT-319 g Fe-319 HTEdT hl 0sy |

(%) Tagad T F1 Y B ? Taadd IfshAT & Hh! hl TUIATST |

HAAAT

(@) fordt off somm™ i g%adr & fow 9 sl il dohidl g =
HE@Ul g ? UH IR alsh q@emsy ek g1 Tk ITH! U TSIl i

dcohlc] Ug= hidl g |

fafim sewm & o ifas-19 Temil 3 SaTiie gael o Ush AT I 6l

T foham B |

Ueh ITHI, W 9 Teh UH Afgd T N-95 B8 Heh bl (SoTsd fham & ST 7 ohad
Tig & forg off 78 gar 1 A Hum AfUg S Areh T9T % A @ @, dl
3ueht U1 ot Siga < | AT & FEl, Al ATk 1 SuANTehal gar H fepedt fommy
% Gueh H AW dt 3 =areHt ff om | foar g o orest @t @ an faufe
ot B, <ifehd 3194 To=X & ToT@ 1Y UsAd Bq Id ol ARl ol IHIIId
1 AWl 8 | WIel Y F dral, SUHREST AT WHTdeh TS’ & f8d ol
S % U a4 SAEEIEE ASHT 1 Th dHF e 1 il |/w
TR foRa |
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Section D

(a) ‘Mergers and Aquisitions’ are inspired by a desire to diversify or
achieve higher growth rate due to varied reasons. Explain any five

such reasons of mergers and aquisitions.

OR

(b) Give the meaning of ‘Skimming method of pricing’. State any two

advantages and two disadvantages of this method of pricing.

Give the meaning of ‘Venture Capital’. Entrepreneurs can seek venture
capital to assist various stages in the company’s development. Explain
‘Seed Capital stage’ and ‘Pre-start-up and Start-up stage’ of financing by

venture capitalists.

(a) What is meant by innovation ? Explain the elements in the

innovation process.

OR

(b) Why is trendspotting important for the success of any business ?

Explain the four ways in which an entrepreneur spots trends.

The Covid-19 pandemic has ushered an era of new business opportunities

for many businesses.

Rajat, an entrepreneur, designed a unique N-95 face mask which would
not only filter the air inhaled but also change its colour when the mask is
no longer good for use. Not only this, it would also send an alert in case
the user of the mask comes in contact with any virus in the air. The idea
sounds good and marketable, but Rajat needs to impress the investors to
fund his idea. Rajat prepared a three-minute summary of the business
plan executive summary to awaken the interest of the potential funders,

customers or strategic partners.
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(F) ‘aEiFs TeEr w1 A T g wWd g ST "« T
SATGETRI ST o YTEY bl Jg=T-T |

(@) 3w (%) T U89 TC IIEY & AfdNh SA@dIh JSHT o i 3
TTEdT I HHETET |

34. < UJ 9K I H ‘Sag feamge fGfues’ v IM1 yg=men AW 2 | 3E
Tarfese TE adn qigeH A fafasfistr fham 3 | 39 warey wg 3mER & ufd
SNTEeh ST bl TTE TCUTER fashed o &9 H 39 H1 ol U1 foham 8 | 39 °
TFl H 50 UMW TS h HHEe Uk W S=T JTWM | Al TR AN
T 1,00,000 81 | S 31g fasha goa qon aiEaaeiial @ = TR &

qcillHdeh dHeh dlct h{HT dHD dicT
fa - e
gid 3opTs Tk e (T) 120 80
gfd g1 IREd- @mTa () 70 30
farsmar T wfaed (%) 40 60

&1 TS g1 ¥ gehtsdl 9 vl § gH-forese fog ki oM Hife |

98 Page 26 of 27



34.

98

EXE
E
(a) Give the meaning of ‘business plan’ and identify the format of

business plan used by Rajat.

(b) Explain three formats of business plan other than the one

identified in (a) above.

‘Baked Delight Ltd.” is a well known name in breads and bakery
products. It has diversified into flavoured fox nuts and popcorn. The two
were introduced as smart snacking options for health and diet conscious
people. To start with, both will be sold in a standard packing of 50 gm
each. Fixed cost for these will be ¥ 1,00,000. Sale price and variable cost

per unit is as follows :

: Classic salted | Caramel salted
Particulars
Fox nuts Popcorn
Sale price per unit () 120 80
Variable cost per unit (3) 70 30
Sales mix percentage (%) 40 60

From the given information calculate Break-Even Point in units and

rupees.

Page 27 of 27



